# HIGHER POWERS OF q-DEFORMED WHITE NOISE

### LUIGI ACCARDI AND ANDREAS BOUKAS

Dedicated to Professor Yuri M. Berezansky on the occasion of his 80-th birthday.

ABSTRACT. We introduce the renormalized powers of q-deformed white noise, for any q in the open interval (-1,1), and we extend to them the no–go theorem recently proved by Accardi–Boukas–Franz in the Boson case. The surprising fact is that the lower bound (6.5), which defines the obstruction to the positivity of the sesquilinear form, uniquely determined by the renormalized commutation relations, is independent of q in the half-open interval (-1,1], thus including the Boson case. The exceptional value q=-1, corresponding to the Fermion case, is dealt with in the last section of the paper where we prove that the argument used to prove the no–go theorem for  $q\neq 0$  does not extend to this case.

### 1. Introduction

The construction of the Fock representation for the renormalized square of white noise (RSWN), obtained in [2], led to an unexpected connection with the Meixner classes in [3]. These classes also appeared, in a different context, in a series of papers by Berezansky and his school (see [9], [8], [14], [15] and the references therein). After these results the problem to extend the above analysis to higher powers of white noise naturally arised. Up to now all the attempts in this direction have run into the obstruction of the no–go theorems. Let us briefly outline the essence of the problem.

Once proved that both the first and second order Boson white noise admit a Fock representation, it was natural to ask whether there exists a Fock representation for the combination of the two. This question was raised by P. Sniady in [17] who observed that it has a negative answer. This is due to the fact that, if such a representation exists, then the scalar product of the corresponding "Fock space" is uniquely determined by the commutation relations. But it turns out that the renormalization procedure perturbs the algebra in such a way that this "scalar product" cannot be positive semi-definite.

Now the first order white noise over  $\mathbb R$  can be described as the current algebra of the 1-mode CCR algebra

$$[a, a^+] = 1$$

over the algebra

$$\mathcal{C} := \{ \text{step functions on } \mathbb{R}^d \} \subseteq L^{\infty}(\mathbb{R}^d, dx)$$

<sup>2000</sup> Mathematics Subject Classification. Primary 60H40; Secondary 81S05.

Key words and phrases. Quantum white noise, q-deformation, Fock representation.

We thank Prof. Marek Bożejko for suggesting us to use Lemma 1. We also thank Dr. Wided Ayed and the other participants of the Volterra Center seminars held in July 2005 for their comments and suggestions. The second author wishes to express his gratitude to Professor Luigi Accardi for his support and influence as well as for the hospitality of the Volterra Center over the past nearly two decades.

(cf. Section 2 for this notion). Similarly the second order white noise can be described as the current algebra of the  $sl(2, \mathbb{R})$ -Lie algebra

$$[a^2, a^{+2}] = c + 4a^+a,$$
  
 $[a^2, a^+a] = 2a^+a$ 

based on the same algebra  $\mathcal{C} \subseteq L^{\infty}(\mathbb{R}^d, dx)$  as above.

The combined 1-st and 2-d order Boson white noise can be defined as the current algebra over the Lie algebra, with generators:

$$a, a^+, 1, a^+a^+, a^2, a^{+2}$$

also called the Schrödinger algebra [12], based on the same algebra  $\mathcal{C}$  as above. Clearly the 1-mode CCR gives a Fock representation for this algebra.

Therefore Sniady's theorem can be rephrased as follows: the Schrödinger algebra has a Fock representation but its current algebra over  $\mathcal{C}$  has no Fock representation.

The problem of lifting a representation of a \*-Lie algebra to an associated current algebra, is deeply related to an old open problem of quantum field theory: giving a meaning to the "higher powers of free fields". Since a Boson free field is nothing but a Boson white noise, this problem is equivalent to constructing a mathematical object which has the right to be called "a higher ( $\geq 2$ ) power of white noise".

In the above notations, a naive way to state the problem of constructing higher powers of white noise would be: consider the 1-dimensional Schrödinger representation of the CCR:

$$[a, a^+] = 1$$

acting on  $L^2(\mathbb{R})$ . The linear span of the non-commutative monomials in a,  $a^+$  is an infinite dimensional Lie algebra, called the full oscillator algebra, which by construction admits a Fock representation.

Does there exist a Fock representation of the current algebra of the oscillator algebra over on  $\mathbb{R}^d$  with the Lebesgue measure?

Since the full oscillator algebra contains the Schrödinger algebra, we know that the answer to this question is negative.

However the analogy with the second order case suggests the possibility that a more restricted program might be realized, namely that representations of some special (but nontrivial) \*-Lie sub-algebras of the oscillator algebra might exist.

The most natural thing to do was to start with the cubic powers  $a^3$ ,  $a^{+3}$  and consider the \*-Lie algebra generated by them; then take the smallest power not contained in this algebra and iterate the procedure.

Accardi, Boukas and Franz proved in [1] that even the first step of this restricted program, i.e. the case of  $a^3$ ,  $a^{+3}$ , faces a no–go theorem. Recently Accardi and Boukas proved in [4] that the same negative result holds for  $a^n$ ,  $a^{+n}$  for any  $n \ge 3$ .

More precisely they proved that, if a \*-Lie sub-algebra of the oscillator algebra contains  $a^n$  for some  $n \geq 3$ , then the associated current algebra based on a algebra  $\mathcal C$  of step functions over a measure space  $(S,\mathcal B,\mu)$  cannot have a Fock representation unless there exits a fundamental volume  $\kappa>0$  with the property that, if  $I\subseteq S$  is a measurable set satisfying  $\chi_I\in\mathcal C$ , then  $\mu(I)>\kappa$ . Moreover this fundamental volume is the inverse of the renormalization constant, introduced in [2], thus in particular, it is independent of n.

A natural next question is if these no–go theorems are specific to the Boson case, i.e. if they still hold under more general commutation relations.

In the present paper we introduce the algebra of renormalized powers of q-deformed white noise and we extend the above mentioned no–go theorem to the q-oscillator algebra, with  $q \in (-1,1)$ .

A surprising result in this extension is that the fundamental volume  $\kappa$  is the same as in the Boson case. In particular it does not depend on q.

## 2. Current representations of Lie algebras

Current representations of Lie algebras were first introduced by Araki in [7] and [6] and then studied by several authors. The monographs of Parthasarathy and Schmidt [16] and of Guichardet [13] are good and complementary introductions to the subject. Here we recall the terminology introduced in [5].

**Definition 1.** Let  $\mathcal{G}$  be a complex \*-Lie algebra. A canonical set of generators of  $\mathcal{G}$  is a linear basis of  $\mathcal{G}$ 

$$l_{\alpha}^+, l_{\alpha}^-, l_{\beta}^0, \quad \alpha \in I, \quad \beta \in I_0$$

where  $I_0$ , I are sets, satisfying the following conditions:

$$(l_{\beta}^{0})^{*} = l_{\beta}^{0}, \quad \forall \beta \in I_{0},$$
  
 $(l_{\alpha}^{+})^{*} = l_{\alpha}^{-}, \quad \forall \alpha \in I$ 

and all the central elements among the generators are of  $l^0$ -type (i.e. self-adjoint).

We will denote  $c_{\alpha\beta}^{\gamma}(\varepsilon, \varepsilon', \delta)$  the structure constants of  $\mathcal{G}$  with respect to the generators  $(l_{\alpha}^{\varepsilon})$ :

$$[l_{\alpha}^{\varepsilon},l_{\beta}^{\varepsilon'}] = c_{\alpha\beta}^{\gamma}(\varepsilon,\varepsilon',\delta)l_{\gamma}^{\delta} := \sum_{\gamma \in I_{0}} c_{\alpha\beta}^{\gamma}(\varepsilon,\varepsilon',0)l_{\gamma}^{0} + \sum_{\gamma \in I} c_{\alpha\beta}^{\gamma}(\varepsilon,\varepsilon',+)l_{\gamma}^{+} + \sum_{\gamma \in I} c_{\alpha\beta}^{\gamma}(\varepsilon,\varepsilon',-)e_{\gamma}^{-}.$$

In the following we will consider only *locally finite* Lie algebras, i.e. those such that, for any pair  $\alpha, \beta \in I \cup I_0$  only a finite number of the structure constants  $c_{\alpha\beta}^{\gamma}(\varepsilon, \varepsilon', \delta)$  is different from zero.

**Definition 2.** Let there be given

- $-a *-Lie algebra \mathcal{G},$
- a measurable space  $(S, \mathcal{B})$ ,
- $a *-sub-algebra \mathcal{C} \subseteq L^{\infty}_{\mathbb{C}}(S,\mathcal{B})$  for the pointwise operations.

The current algebra of G over C is the \*-Lie algebra

$$\mathcal{G}(\mathcal{C}) := \{ \mathcal{C} \otimes \mathcal{G}, [\cdot, \cdot] \}$$

where  $\mathcal{C} \otimes \mathcal{G}$  is the algebraic tensor product, the Lie brackets  $[\cdot, \cdot]$  are given by

$$[f \otimes l, g \otimes l'] := fg \otimes [l, l'], \quad f, g \in \mathcal{C}, \quad l, l' \in \mathcal{G}$$

and the involution \* is given by

$$(f \otimes l)^* := \overline{f} \otimes l^*, \quad f \in \mathcal{C}, \quad l \in \mathcal{G}$$

where  $\overline{f}$  denotes complex conjugate.

Remark. If  $(l_{\alpha}^{\varepsilon})$  is a canonical set of generators of  $\mathcal{G}$  then the set

$$\{f \otimes l_{\alpha}^+, f^* \otimes l_{\alpha}^-, \operatorname{Re}(f) \otimes l_{\gamma}^0 : \alpha \in I, \gamma \in I_0, f \in \mathcal{C}\}$$

 $(\operatorname{Re}(f) := (f + \overline{f})/2)$  is a canonical set of generators of  $\mathcal{G}(\mathcal{C})$ .

In the following we will use the notations:

$$l_{\alpha}^{+}(f):=f\otimes l_{\alpha}^{+}\;,\quad l_{\alpha}^{-}(f):=f^{*}\otimes l_{\alpha}^{-}\;,\quad l_{\alpha}^{0}(f):=f\otimes l_{\gamma}^{0}$$

and, when no confusion can arise, we will often speak of the current algebra  $(l_{\alpha}^{\varepsilon}(f))$ .

**Definition 3.** A representation of a \*-Lie algebra  $\mathcal{G}$  is a triple

$$\{\mathcal{H}, \mathcal{D}, \pi\}$$

where

- $-\mathcal{H}$  is an Hilbert space,
- $\mathcal{D}$  is a total subset of  $\mathcal{H}$
- $-\pi:\mathcal{D}\to\mathcal{H}$  is a map such that:
- (i) for any  $l \in \mathcal{G}$ ,  $\pi(l)$  is a pre-closed operator on  $\mathcal{D}$  with adjoint  $\pi(l^*)$ ,
- (ii) for any  $l, l' \in \mathcal{G}$

$$\pi([l, l']) = [\pi(l), \pi(l')]$$

where the commutator on the right hand side is meant weakly on  $\mathcal{D}$ .

Remark. At the algebraic level the existence of representations of current algebras over  $\{\mathcal{G}, (l_{\alpha}^{\varepsilon})\}\$  is easily established for an arbitrary measure space  $(S, \mathcal{B}, \mu)$  and sub-\*-algebra

$$C \subseteq L^{\infty}(S, \mathcal{B}, \mu).$$

In fact, if  $\{\pi, \mathcal{K}\}$  is any representation of  $\mathcal{G}$  one can define a structure of \*-Lie algebra on

$$\mathcal{C} \otimes \pi(\mathcal{G}) \in \mathcal{L}(L^2(S, \mathcal{B}, \mu) \otimes \mathcal{K})$$

in terms of the brackets

$$[f \otimes \pi(e), g \otimes \pi(l')] := fg \otimes \pi([l, l']).$$

Therefore, defining

$$l_{\alpha}^{+}(f) := f \otimes \pi(l_{\alpha}^{+}),$$
  
$$l_{\alpha}^{\circ}(f) := f \otimes \pi(l_{\alpha}^{\circ})$$

one has

$$\begin{split} l_{\alpha}^{+}(f)^{*} &= \overline{f} \otimes \pi(l_{\alpha}^{+})^{*} = \overline{f} \otimes \pi((l_{\alpha}^{+})^{*}) = \overline{f} \otimes \pi(l_{\alpha}^{-}), \\ (l_{\beta}^{0}(f))^{*} &= \overline{f} \otimes \pi(l_{\beta}^{0})^{*} = \overline{f} \otimes \pi(l_{\beta}^{0}) = l_{\beta}^{0}(\overline{f}), \\ [l_{\alpha}^{\varepsilon}(f), l_{\beta}^{\varepsilon'}(g)] &= [f^{\varepsilon} \otimes \pi(l_{\alpha}^{\varepsilon}), g^{\varepsilon'} \otimes \pi(l_{\beta}^{\varepsilon'})] = f^{\varepsilon} g^{\varepsilon'} \otimes [\pi(l_{\alpha}^{\varepsilon}), \pi(l_{\beta}^{\varepsilon'})] \\ &= f^{\varepsilon} g^{\varepsilon'} \otimes \pi[l_{\alpha}^{\varepsilon}, l_{\beta}^{\varepsilon'}] = c_{\alpha\beta}^{\gamma}(\varepsilon, \varepsilon', \delta) f^{\varepsilon} g^{\varepsilon'} \otimes l_{\gamma}^{\delta}. \end{split}$$

Thus the current algebra relations are verified. Thus any representation of  $\mathcal{G}$  can be lifted to a representation of the current algebra  $\mathcal{G}\otimes\mathcal{G}$ . We will see the following that, in some cases, there exists no lifting which preserves some special property of the representation of  $\mathcal{G}$ , e.g. the property of being a Fock representation with respect to a given canonical set of generators.

**Definition 4.** Let  $\mathcal{G}$  be a \*-Lie algebra with a canonical set of generators  $(l_{\alpha}^{\varepsilon})$ . A representation  $\{\mathcal{K}, \mathcal{D}, \pi\}$  of  $\mathcal{G}$  on a Hilbert space  $\mathcal{K}$  is called a Fock representation if

(i) there exists a unit vector  $\Phi \in \mathcal{K}$  such that  $\forall \alpha \in I$  and  $\forall \beta \in I_0$ , with the exception of those  $\beta \in I_0$  which correspond to central elements, one has

$$\pi(l_{\alpha}^{-})\Phi = \pi(l_{\beta}^{0})\Phi = 0,$$

(ii) the set

$$\{\pi(l_{\alpha}^+)^n\Phi\ :\ \alpha\in I\ ,\ n\in\mathbb{N}\}$$

is total in K.

**Problem.** Let  $\{\mathcal{G}, (l_{\alpha}^{\varepsilon})\}$  be a \*-Lie algebra with a canonical set of generators. Suppose that  $\{\mathcal{G}, (l_{\alpha}^{\varepsilon})\}$  admits a Fock representation. Under which conditions on the measure space  $(S, \mathcal{B}, \mu)$  and on the \*-sub-algebra

$$C \subseteq L^{\infty}(S, \mathcal{B}, \mu)$$

does the current algebra

$$\{l_{\alpha}^{\varepsilon}(f): \varepsilon \in \{+, -, 0\} , \alpha \in I \text{ or } \alpha \in I_0, f \in \mathcal{C}\}$$

admit a Fock representation?

## 3. q-NUMBERS

The following notation will be used throughout this paper (cf. [10]). For n = 1, 2, ...

$$[n]_q := \frac{q^n - 1}{q - 1}, \qquad [0]_q := 0,$$
  
 $[n]_q! := \prod_{m=1}^n [m]_q, \quad [0]_q! := 1,$ 

$$\binom{n}{k}_{q} := \frac{[n]_{q}!}{[k]_{q}! [n-k]_{q}!} = \prod_{i=1}^{n-k} \frac{q^{k+i} - 1}{q^{i} - 1}$$

and we have the q-binomial theorem

$$(x+y)^n = \sum_{k=0}^n \binom{n}{k}_q y^k x^{n-k}$$

where n = 1, 2, ... and x, y are such that xy = qyx. The following known identity will be crucial in establishing the explicit form of the lower bound in the no–go Theorem 1 below.

**Lemma 1.** For  $q \in (-1, 1)$ 

(3.1) 
$$\sum_{\lambda=0}^{n} q^{\lambda^2} \binom{n}{\lambda}_q^2 = \binom{2n}{n}_q.$$

*Proof.* Let x, y be such that xy = qyx. Then by the q-binomial theorem

(3.2) 
$$(x+y)^{2n} = \sum_{k=0}^{n} {2n \choose k}_{a} y^{k} x^{n-k}$$

and also

$$(3.3) (x+y)^{2n} = (x+y)^n (x+y)^n = \sum_{k=0}^n \binom{n}{k}_q y^k x^{n-k} \sum_{l=0}^n \binom{n}{l}_q y^l x^{n-l}$$

$$= \sum_{k,l=0}^n \binom{n}{k}_q \binom{n}{l}_q y^k x^{n-k} y^l x^{n-l}$$

$$= \sum_{k,l=0}^n \binom{n}{k}_q \binom{n}{l}_q y^{k+l} q^{(n-k)l} x^{2n-k-l}.$$

Looking at (3.3) for k + l = n and equating coefficients with (3.2) we obtain

$$\binom{2n}{n}_q = \sum_{k=0}^n q^{(n-k)^2} \binom{n}{k}_q^2 = \sum_{k=0}^n q^{(n-k)^2} \binom{n}{n-k}_q^2 = \sum_{k=0}^n q^{k^2} \binom{n}{k}_q^2$$

which is (3.1).

# 4. 1-mode q-commutation relations

In this section we recall some known facts on the q-commutation relations and then we describe the q-analogue of the full oscillator algebra, i.e. the Lie algebra of all polynomials in the 1-mode Boson creation and annihilation operators.

**Definition 5.** The q-commutator algebra is the associative \*-algebra with canonical generators  $\{a, a^+, 1\}$  satisfying  $(a^+)^* = a$ ;  $1^* = 1$  (identity) and the commutation relations

$$(4.1) a a^{\dagger} - q a^{\dagger} a = 1.$$

Bozeiko, Kummerer and Speicher proved in [10] that this algebra admits a Fock representation if  $q \in (-1,1)$ . Bozeiko and Speicher had also proved in [11] that this algebra does not admit a Fock representation if |q| > 1.

In the following we sum up some known properties of these operator which will be used throughout the present paper.

**Proposition 1.** Then, for  $n \ge 1$  and  $q \ne \pm 1$  one has

$$(4.2) a(a^{\dagger})^n - q^n (a^{\dagger})^n a = \frac{q^n - 1}{q - 1} (a^{\dagger})^{n-1} = [n]_q (a^{\dagger})^{n-1}.$$

*Proof.* The case n = 1 is clear. Assuming (4.2) to be true for n we have

$$a (a^{\dagger})^{n+1} = a (a^{\dagger})^{n} a^{\dagger} = \left(\frac{q^{n} - 1}{q - 1} (a^{\dagger})^{n-1} + q^{n} (a^{\dagger})^{n} a\right) a^{\dagger}$$

$$= \frac{q^{n} - 1}{q - 1} (a^{\dagger})^{n} + q^{n} (a^{\dagger})^{n} a a^{\dagger}$$

$$= \frac{q^{n} - 1}{q - 1} (a^{\dagger})^{n} + q^{n} (a^{\dagger})^{n} (1 + q a^{\dagger} a)$$

$$= \frac{q^{n} - 1}{q - 1} (a^{\dagger})^{n} + q^{n} (a^{\dagger})^{n} + q^{n+1} (a^{\dagger})^{n+1} a$$

$$= q^{n+1} (a^{\dagger})^{n+1} a + \frac{q^{n+1} - 1}{q - 1} (a^{\dagger})^{n}$$

so (4.2) is true for n+1 also.

**Proposition 2.** Let  $a, a^{\dagger}$  and q be as in Proposition 1 and let  $n, k \geq 1$ . Then

(4.3) 
$$a^{n} (a^{\dagger})^{k} - q^{nk} (a^{\dagger})^{k} a^{n} = \sum_{\lambda=1}^{n} \phi_{\lambda}(n, k; q) (a^{\dagger})^{k-\lambda} a^{n-\lambda}$$

where

$$\begin{split} \phi_{\lambda}(n,k;q) &= \begin{cases} q^{(n-\lambda)(k-\lambda)} & \prod_{\rho=0}^{\lambda-1} \frac{q^{k-\rho}-1}{q-1} \left(\delta_{n,\lambda} + (1-\delta_{n,\lambda}) \prod_{\substack{\rho'=0\\if \lambda \leq n \text{ and } \lambda \leq k\\if \lambda > n \text{ or } \lambda > k}} \frac{q^{n-\rho'}-1}{q^{n-\lambda-\rho'}-1} \right), \\ 0, & \text{if } \lambda \leq n \text{ and } \lambda \leq k\\ 0, & \text{if } \lambda > n \text{ or } \lambda > k \end{cases} \\ &= \begin{cases} q^{(n-\lambda)(k-\lambda)} \frac{[k]_q!}{[k-\lambda]_q!} \left(\delta_{n,\lambda} + (1-\delta_{n,\lambda}) \binom{n}{\lambda}_q \right), & \text{if } \lambda \leq n \text{ and } \lambda \leq k\\ 0, & \text{if } \lambda > n \text{ or } \lambda > k \end{cases} \end{split}$$

where  $\delta_{n,\lambda}$  is Kronecker's delta and we assume, without loss of generality, that  $k \geq n$  (otherwise, just take the adjoint of (4.3)).

*Proof.* We will use induction on n and treat k as a constant. The case n=1 is just Corollary 1. Assume (4.3) to be true for n. Then

$$\begin{split} a^{n+1} \left( a^{\dagger} \right)^k &= a \, a^n \, (a^{\dagger})^k \\ &= a \, \left( q^{nk} \, (a^{\dagger})^k \, a^n + \sum_{\lambda = 1}^n \phi_{\lambda}(n,k;q) \, (a^{\dagger})^{k-\lambda} \, a^{n-\lambda} \right) \\ &= q^{nk} \, a \, (a^{\dagger})^k \, a^n + \sum_{\lambda = 1}^n \phi_{\lambda}(n,k;q) \, a \, (a^{\dagger})^{k-\lambda} \, a^{n-\lambda} \\ &= q^{nk} \, \left( q^k \, (a^{\dagger})^k \, a + \frac{q^k - 1}{q - 1} \, (a^{\dagger})^{k-1} \right) a^n \\ &+ \sum_{\lambda = 1}^n \, \phi_{\lambda}(n,k;q) \, \left( q^{k-\lambda} \, (a^{\dagger})^{k-\lambda} \, a + \frac{q^{k-\lambda} - 1}{q - 1} \, (a^{\dagger})^{k-\lambda - 1} \right) a^{n-\lambda} \\ &= q^{(n+1)k} \, (a^{\dagger})^k \, a^{n+1} + q^{nk} \, \frac{q^k - 1}{q - 1} \, (a^{\dagger})^{k-1} \, a^n \\ &+ \sum_{\lambda = 1}^n \, \phi_{\lambda}(n,k;q) \, q^{k-\lambda} \, (a^{\dagger})^{k-\lambda} \, a^{n-\lambda + 1} \\ &+ \sum_{\lambda = 1}^n \, \phi_{\lambda}(n,k;q) \, \frac{q^{k-\lambda} - 1}{q - 1} \, (a^{\dagger})^{k-\lambda - 1} \, a^{n-\lambda} \\ &= q^{(n+1)k} \, (a^{\dagger})^k \, a^{n+1} + \left( q^{nk} \, \frac{q^k - 1}{q - 1} + \phi_1(n,k;q) \, q^{k-1} \right) \, (a^{\dagger})^{k-1} \, a^n \\ &+ \sum_{\lambda = 2}^n \, \phi_{\lambda}(n,k;q) \, \frac{q^{k-\lambda} - 1}{q - 1} \, (a^{\dagger})^{k-\lambda - 1} \, a^{n-\lambda} \\ &= q^{(n+1)k} \, (a^{\dagger})^k \, a^{n+1} + \left( q^{nk} \, \frac{q^k - 1}{q - 1} + \phi_1(n,k;q) \, q^{k-1} \right) \, (a^{\dagger})^{k-1} \, a^n \\ &+ \sum_{\lambda = 2}^n \, \phi_{\lambda}(n,k;q) \, q^{k-\lambda} \, (a^{\dagger})^{k-\lambda} \, a^{n-\lambda + 1} \\ &+ \sum_{\lambda = 2}^n \, \phi_{\lambda}(n,k;q) \, q^{k-\lambda} \, (a^{\dagger})^{k-\lambda} \, a^{n-\lambda + 1} \\ &+ \sum_{\lambda = 2}^{n+1} \, \phi_{\lambda-1}(n,k;q) \, \frac{q^{k-\lambda + 1} - 1}{q - 1} \, (a^{\dagger})^{k-\lambda} \, a^{n+1-\lambda} \\ &= q^{(n+1)k} \, (a^{\dagger})^k \, a^{n+1} + \left( q^{nk} \, \frac{q^k - 1}{q - 1} + \phi_1(n,k;q) \, q^{k-1} \right) \, (a^{\dagger})^{k-1} \, a^n \\ &+ \sum_{\lambda = 2}^n \, \left( \phi_{\lambda}(n,k;q) \, q^{k-\lambda} + \phi_{\lambda-1}(n,k;q) \, \frac{q^k - \lambda + 1}{q - 1} - \frac{1}{q - 1} \right) \, (a^{\dagger})^{k-\lambda} \, a^{n+1-\lambda} \\ &+ \phi_n(n,k;q) \, \frac{q^{k-n} - 1}{q - 1} \, (a^{\dagger})^{k-n-1}. \end{split}$$

It thus suffices to show that

(4.4) 
$$\phi_1(n+1,k;q) = q^{nk} \frac{q^k - 1}{q-1} + \phi_1(n,k;q) q^{k-1},$$

(4.5) 
$$\phi_{\lambda}(n+1,k;q) = \phi_{\lambda}(n,k;q) q^{k-\lambda} + \phi_{\lambda-1}(n,k;q) \frac{q^{k-\lambda+1}-1}{q-1}$$
for  $\lambda = 2, 3, \dots, n$ ,

(4.6) 
$$\phi_{n+1}(n+1,k;q) = \phi_n(n,k;q) \frac{q^{k-n}-1}{q-1}.$$

To prove (4.4) we have

$$q^{nk} \frac{q^k - 1}{q - 1} + \phi_1(n, k; q) q^{k - 1} = q^{nk} \frac{q^k - 1}{q - 1} + q^{(n - 1)(k - 1)} \frac{q^k - 1}{q - 1} \frac{q^n - 1}{q - 1} q^{k - 1}$$

$$= q^{nk} \frac{q^k - 1}{q - 1} + q^{n(k - 1)} \frac{q^k - 1}{q - 1} \frac{q^n - 1}{q - 1}$$

$$= q^{n(k - 1)} \frac{q^k - 1}{q - 1} \left( q^n + \frac{q^n - 1}{q - 1} \right)$$

$$= q^{n(k - 1)} \frac{q^k - 1}{q - 1} \frac{q^{n + 1} - 1}{q - 1} = \phi_1(n + 1, k; q).$$

To prove (4.6) we have

$$\phi_n(n,k;q) \frac{q^{k-n}-1}{q-1} = \prod_{n=0}^{n-1} \frac{q^{k-\rho}-1}{q-1} \frac{q^{k-n}-1}{q-1} = \prod_{n=0}^{n} \frac{q^{k-\rho}-1}{q-1} = \phi_{n+1}(n+1,k;q).$$

Finally, we prove (4.5) by distinguishing cases  $\lambda = n$ ,  $\lambda = n - 1$ , and  $2 \le \lambda \le n - 2$ . Starting with the right hand side of (4.5), for  $\lambda = n$  we have

$$\begin{split} \phi_n(n,k;q) \, q^{k-n} + \phi_{n-1}(n,k;q) \, \frac{q^{k-n+1}-1}{q-1} \\ &= \prod_{\rho=0}^{n-1} \frac{q^{k-\rho}-1}{q-1} \, q^{k-n} + q^{k-n+1} \, \prod_{\rho=0}^{n-2} \frac{q^{k-\rho}-1}{q-1} \, \frac{q^n-1}{q-1} \, \frac{q^{k-n+1}-1}{q-1} \\ &= q^{k-n} \, \prod_{\rho=0}^{n-1} \frac{q^{k-\rho}-1}{q-1} + q^{k-n+1} \, \frac{q^n-1}{q-1} \, \prod_{\rho=0}^{n-1} \frac{q^{k-\rho}-1}{q-1} \\ &= \left(q^{k-n} + q^{k-n+1} \, \frac{q^n-1}{q-1}\right) \, \prod_{\rho=0}^{n-1} \frac{q^{k-\rho}-1}{q-1} \\ &= q^{k-n} \, \frac{q^{n+1}-1}{q-1} \, \prod_{\rho=0}^{n-1} \frac{q^{k-\rho}-1}{q-1} = \phi_n(n+1,k;q). \end{split}$$

Similarly, for  $\lambda = n - 1$  we have

$$\begin{split} \phi_{n-1}(n,k;q) \, q^{k-n+1} + \phi_{n-2}(n,k;q) \, \frac{q^{k-n+2}-1}{q-1} \\ &= q^{k-n+1} \, \prod_{\rho=0}^{n-2} \frac{q^{k-\rho}-1}{q-1} \, \frac{q^n-1}{q-1} \, q^{k-n+1} \\ &+ q^{2(k-n+2)} \, \prod_{\rho=0}^{n-3} \frac{q^{k-\rho}-1}{q-1} \, \prod_{\rho'=0}^{1} \frac{q^{n-\rho'}-1}{q^{2-\rho'}-1} \, \frac{q^{k-n+2}-1}{q-1} \\ &= q^{2(k-n+1)} \, \prod_{\rho=0}^{n-2} \frac{q^{k-\rho}-1}{q-1} \, \frac{q^n-1}{q-1} \\ &+ q^{2(k-n+2)} \, \prod_{\rho=0}^{n-2} \frac{q^{k-\rho}-1}{q-1} \, \frac{q^n-1}{q^2-1} \, \frac{q^{n-1}-1}{q-1} \end{split}$$

$$\begin{split} &=q^{2(k-n+1)}\prod_{\rho=0}^{n-2}\frac{q^{k-\rho}-1}{q-1}\,\frac{q^n-1}{q^2-1}\,\frac{q^{n-1}-1}{q-1}\bigg(\frac{q^2-1}{q^{n-1}-1}+q^2\bigg)\\ &=q^{2(k-n+1)}\prod_{\rho=0}^{n-2}\frac{q^{k-\rho}-1}{q-1}\,\frac{q^n-1}{q^2-1}\,\frac{q^{n-1}-1}{q-1}\,\frac{q^{n+1}-1}{q^{n-1}-1}\\ &=q^{2(k-n+1)}\prod_{\rho=0}^{n-2}\frac{q^{k-\rho}-1}{q-1}\,\frac{q^{n+1}-1}{q^2-1}\,\frac{q^n-1}{q-1}=\phi_{n-1}(n+1,k;q). \end{split}$$

Finally, for  $2 \le \lambda \le n-2$  the right hand side of (4.5) becomes

$$\begin{split} \phi_{\lambda}(n,k;q)\,q^{k-\lambda} + \phi_{\lambda-1}(n,k;q)\,\frac{q^{k-\lambda+1}-1}{q-1} \\ &= q^{(n-\lambda)(k-\lambda)}\prod_{\rho=0}^{\lambda-1}\frac{q^{k-\rho}-1}{q-1}\prod_{\rho'=0}^{n-\lambda-1}\frac{q^{n-\rho'}-1}{q^{n-\lambda-\rho'}-1}q^{k-\lambda} \\ &+ q^{(n-\lambda+1)(k-\lambda+1)}\prod_{\rho=0}^{\lambda-2}\frac{q^{k-\rho}-1}{q-1}\prod_{\rho'=0}^{n-\lambda}\frac{q^{n-\rho'}-1}{q^{n-\lambda+1-\rho'}-1}\frac{q^{k-\lambda+1}-1}{q-1} \\ &= q^{(n-\lambda+1)(k-\lambda)}\prod_{\rho=0}^{\lambda-1}\frac{q^{k-\rho}-1}{q-1} \\ &\times \left(\prod_{\rho'=0}^{n-\lambda-1}\frac{q^{n-\rho'}-1}{q^{n-\lambda-\rho'}-1}+q^{n-\lambda+1}\prod_{\rho'=0}^{n-\lambda}\frac{q^{n-\rho'}-1}{q^{n+1-\lambda-\rho'}-1}\right) \\ &= q^{(n-\lambda+1)(k-\lambda)}\prod_{\rho=0}^{\lambda-1}\frac{q^{k-\rho}-1}{q-1} \\ &\times \left(\prod_{\rho'=1}^{n-\lambda}\frac{q^{n+1-\rho'}-1}{q^{n+1-\lambda-\rho'}-1}+q^{n-\lambda+1}\prod_{\rho''=0}^{n-\lambda+1}(q^{n+1-\rho''}-1)\right) \\ &= q^{(n-\lambda+1)(k-\lambda)}\prod_{\rho=0}^{\lambda-1}\frac{q^{k-\rho}-1}{q-1}\prod_{\rho'=0}^{n-\lambda}\frac{q^{n+1-\rho'}-1}{q^{n+1-\lambda-\rho'}-1} \\ &\times \left(\frac{q^{n+1-\lambda}-1}{q^{n+1}-1}+q^{n-\lambda+1}\frac{q^{\lambda}-1}{q^{n+1}-1}\right) \\ &= q^{(n-\lambda+1)(k-\lambda)}\prod_{\rho=0}^{\lambda-1}\frac{q^{k-\rho}-1}{q-1}\prod_{\rho'=0}^{n-\lambda}\frac{q^{n+1-\rho'}-1}{q^{n+1-\lambda-\rho'}-1}\cdot 1 = \phi_{\lambda}(n+1,k;q). \end{split}$$

**Proposition 3.** Let  $0 \neq q \neq \pm 1$ . For all  $n, k, N, K \geq 0$ 

$$a^{\dagger^{n}} a^{k} a^{\dagger^{N}} a^{K} - q^{kN-nK} a^{\dagger^{N}} a^{K} a^{\dagger^{n}} a^{k} = \sum_{\lambda=1}^{n} \phi_{\lambda}(k, N; q) a^{\dagger^{n+N-\lambda}} a^{k+K-\lambda}$$

$$- q^{kN-nK} \sum_{\lambda=1}^{K} \phi_{\lambda}(K, n; q) a^{\dagger^{n+N-\lambda}} a^{k+K-\lambda}.$$
(4.7)

*Proof.* To prove (4.7) we notice that

$$(4.8) a^{\dagger^{n}} a^{k} a^{\dagger^{N}} a^{K} = a^{\dagger^{n}} \left( q^{kN} a^{\dagger^{N}} a^{k} + \sum_{\lambda=1}^{k} \phi_{\lambda}(k, N; q) a^{\dagger^{N-\lambda}} a^{k-\lambda} \right) a^{K}$$

$$= q^{kN} a^{\dagger^{n}} a^{\dagger^{N}} a^{k} a^{K} + \sum_{\lambda=1}^{k} \phi_{\lambda}(k, N; q) a^{\dagger^{n}} a^{\dagger^{N-\lambda}} a^{k-\lambda} a^{K}.$$

But

$$a^{\dagger n}a^{\dagger N}a^ka^K = a^{\dagger N}a^{\dagger n}a^Ka^k$$

$$(4.9) = a^{\dagger N} \left( \frac{1}{q^{nK}} a^K a^{\dagger n} - \frac{1}{q^{nK}} \sum_{\lambda=1}^K \phi_{\lambda}(K, n; q) a^{\dagger n - \lambda} a^{K - \lambda} \right) a^k$$

$$= q^{-nK} a^{\dagger N} a^K a^{\dagger n} a^k - q^{-nK} \sum_{\lambda=1}^K \phi_{\lambda}(K, n; q) a^{\dagger N} a^{\dagger n - \lambda} a^{K - \lambda} a^k$$

and (4.7) follows by substituting (4.9) into the right hand side of (4.8).

# 5. Current algebras over the q-commutation relations

In this section we introduce the q-deformed white noise and we prove that, when one tries to introduce higher powers of white noise then, as in the Boson case, ill defined powers of the  $\delta$ -function appear. We then apply the same renormalization used in the Boson case (see Proposition 4 below) and this allows to deduce the q-deformed version of the Lie algebra of renormalized higher powers of white noise.

We fix our measure space to be

$$(S, \mathcal{B}, \mu) = (\mathbb{R}, dx)$$

and the algebra  $\mathcal{C} \subseteq L^{\infty}(\mathbb{R})$  to be the \*-algebra of finitely valued Borel measurable step functions with bounded support.

The current algebra extension of the relation (4.1) is

(5.1) 
$$a_f a_g^+ - q a_g^+ a_f = \langle f, g \rangle, \quad f, g \in \mathcal{C}$$

where  $\langle f, g \rangle$  denotes the scalar product in  $L^2(\mathbb{R}, dx)$ . In white noise notations this becomes

$$(5.2) a_t a_s^{\dagger} - q a_s^{\dagger} a_t = \delta(t - s).$$

Corollary 1. For all  $t, s \in \mathbb{R}_+$  and  $n \ge 1$ , one has

$$(5.3) a_t (a_s^{\dagger})^n - q^n (a_s^{\dagger})^n a_t = \frac{q^n - 1}{q - 1} (a_s^{\dagger})^{n-1} \delta(t - s) = [n]_q (a_s^{\dagger})^{n-1} \delta(t - s).$$

*Proof.* Fix f = g in (5.1). defining  $\delta := ||f||$  and

(5.4) 
$$b^{\dagger} = \frac{a_f^{\dagger}}{\delta^{1/2}}, \quad b = \frac{a_f}{\delta^{1/2}}.$$

Then  $b, b^+$  satisfy (4.1) hence (4.2) holds with b replacing a because of Proposition 4.2. By polarization and passing to white noise notations, we obtain (5.3).

Corollary 2. For all  $t, s \in \mathbb{R}_+$  and  $n \ge 1$  the rule

$$(5.5) a_t a_s^{\dagger} - q a_s^{\dagger} a_t = \delta(t - s)$$

implies that

$$(5.6) a_t^n (a_s^{\dagger})^k - q^{nk} (a_s^{\dagger})^k a_t^n = \sum_{\lambda=1}^n \phi_{\lambda}(n, k; q) (a_s^{\dagger})^{k-\lambda} a_t^{n-\lambda} \delta^{\lambda}(t-s).$$

*Proof.* The proof of (5.6) is similar to that of Corollary 1 by applying Proposition 2 to  $b^{\dagger}$  and b defined by (5.4).

**Proposition 4.** For any complex-valued Schwartz function f define the symbols

$$(5.7) B_k^n(f) := \int_{\mathbb{R}} f(s) a_s^{\dagger n} a_s^k ds$$

with involution

$$(5.8) (B_k^n(f))^* = B_n^k(\bar{f})$$

and

(5.9) 
$$B_0^0(f) = \int_{\mathbb{R}} f(s) \, ds \cdot 1$$

where 1 is the identity operator. Then, using for  $\lambda \geq 1$  the renormalization rule

(5.10) 
$$\delta^{\lambda}(t-s) := c^{\lambda-1}\delta(t-s)$$

where c > 0 is a constant, for any  $n, k, N, K \in \{0, 1, 2, \ldots\}$ , one has

$$(5.11) B_{K}^{n}(f) B_{K}^{N}(g) - q^{kN-nK} B_{K}^{N}(g) B_{k}^{n}(f)$$

$$= \sum_{\lambda=1}^{k} c^{\lambda-1} \phi_{\lambda}(k, N; q) B_{k+K-\lambda}^{n+N-\lambda}(f g)$$

$$- q^{kN-nK} \sum_{\lambda=1}^{K} c^{\lambda-1} \phi_{\lambda}(K, n; q) B_{k+K-\lambda}^{n+N-\lambda}(f g)$$

where for k = 0 and/or K = 0 the corresponding sums on the right hand side of (5.11) are interpreted as zero.

*Proof.* The proof follows by replacing a and  $a^{\dagger}$  by  $\frac{a_t}{\delta(t-s)^{1/2}}$  and  $\frac{a_s^{\dagger}}{\delta(t-s)^{1/2}}$  and then multiplying both sides of (4.7) by f(t) g(s) followed by a formal integration of the resulting identity (i.e. taking  $\int \int \cdots ds \, dt$ ).

# 6. The No-go theorem

**Theorem 1.** Let  $q \in (-1,1), q \neq 0$  and for a fixed interval  $I \subset \mathbb{R}$  and  $n, k \geq 0$  let

$$B_k^n := B_k^n(\chi_I)$$

with  $B_0^0 = \mu(I) \cdot 1$  the Lebesgue measure of I. Let also the "vacuum vector"  $\Phi$  be such that  $B_k^n \Phi = 0$  whenever  $k \neq 0$  and let  $\langle x \rangle := \langle \Phi, x \Phi \rangle$  denote the "vacuum expectation" of an operator x. We assume that  $\langle \Phi, \Phi \rangle = 1$ . Define

$$A(n,q;I) := \left[ \begin{array}{ccc} \langle B_{2n}^0 B_0^{2n} \rangle & \langle B_{2n}^0 (B_0^n)^2 \rangle \\ \\ \langle B_{2n}^0 (B_0^n)^2 \rangle & \langle (B_n^0)^2 (B_0^n)^2 \rangle \end{array} \right].$$

Then, for any choice of n and q, the matrix A(n,q;I) is not positive semi-definite whenever  $c \mu(I) \leq 1$  where c is the renormalization constant.

*Proof.* Using Proposition 4 we have

$$B_{2n}^{0} B_{0}^{2n} \Phi = q^{4n^{2}} B_{2n}^{0} B_{0}^{2n} \Phi + \sum_{\lambda=1}^{2n} c^{\lambda-1} \phi_{\lambda}(2n, 2n; q) B_{2n-\lambda}^{2n-\lambda} \Phi$$
$$= c^{2n-1} \phi_{2n}(2n, 2n; q) B_{0}^{0} \Phi = \mu(I) c^{2n-1} \prod_{\rho=0}^{2n-1} \frac{q^{2n-\rho} - 1}{q - 1} \Phi.$$

Thus

(6.1) 
$$\langle B_{2n}^0 B_0^{2n} \rangle = \mu(I) c^{2n-1} \prod_{\rho=0}^{2n-1} \frac{q^{2n-\rho} - 1}{q-1}.$$

Similarly,

$$B_n^0 B_0^{2n} \Phi = q^{2n^2} B_0^{2n} B_n^0 \Phi + \sum_{\lambda=1}^n c^{\lambda-1} \phi_{\lambda}(n, 2n; q) B_{n-\lambda}^{2n-\lambda} \Phi$$
$$= c^{n-1} \phi_n(n, 2n; q) B_0^n \Phi = c^{n-1} \prod_{\rho=0}^{n-1} \frac{q^{2n-\rho} - 1}{q-1} B_0^n \Phi.$$

Thus

$$\begin{split} B_n^0 \, B_n^0 \, B_0^{2n} \Phi &= c^{n-1} \, \prod_{\rho=0}^{n-1} \frac{q^{2n-\rho}-1}{q-1} \, B_n^0 \, B_0^n \, \Phi \\ &= c^{2n-2} \, \mu(I) \, \prod_{\rho=0}^{n-1} \frac{q^{2n-\rho}-1}{q-1} \, \prod_{\rho=0}^{n-1} \frac{q^{n-\rho}-1}{q-1} \, \Phi \end{split}$$

and so

(6.2) 
$$\langle B_{2n}^0(B_0^n)^2 \rangle = c^{2n-2}\mu(I) \prod_{\rho=0}^{n-1} \frac{q^{2n-\rho}-1}{q-1} \prod_{\rho=0}^{n-1} \frac{q^{n-\rho}-1}{q-1}.$$

Finally,

(6.3) 
$$B_n^0 B_0^n = q^{n^2} B_0^n B_n^0 + \sum_{\lambda=1}^n c^{\lambda-1} \phi_{\lambda}(n, n; q) B_{n-\lambda}^{n-\lambda}$$

implies

$$\begin{split} B_{n}^{0} \left(B_{0}^{n}\right)^{2} &= q^{n^{2}} \, B_{0}^{n} \, B_{0}^{n} \, B_{0}^{n} + \sum_{\lambda=1}^{n} \, c^{\lambda-1} \, \phi_{\lambda}(n,n;q) \, B_{n-\lambda}^{n-\lambda} \, B_{0}^{n} \\ &= q^{n^{2}} \, B_{0}^{n} \left(q^{n^{2}} \, B_{0}^{n} \, B_{n}^{0} + \sum_{\lambda=1}^{n} \, c^{\lambda-1} \, \phi_{\lambda}(n,n;q) \, B_{n-\lambda}^{n-\lambda} \right) \\ &+ \sum_{\lambda=1}^{n} \, c^{\lambda-1} \, \phi_{\lambda}(n,n;q) \\ &\times \left(q^{(n-\lambda)\, n} \, B_{0}^{n} \, B_{n-\lambda}^{n-\lambda} + \sum_{\lambda'=1}^{n-\lambda} \, c^{\lambda'-1} \, \phi_{\lambda'}(n-\lambda,n;q) \, B_{n-\lambda-\lambda'}^{2n-\lambda-\lambda'} \right) \end{split}$$

and so

$$B_n^0 (B_0^n)^2 \Phi = (q^{n^2} \mu(I) c^{n-1} \phi_n(n, n; q) + \mu(I) c^{n-1} \phi_n(n, n; q) + c^{n-2} \sum_{\lambda + \lambda' = n} \phi_{\lambda}(n, n; q) \phi_{\lambda'}(n - \lambda, n; q)) B_0^n \Phi.$$

Thus

$$(B_n^0)^2 (B_0^n)^2 \Phi = (q^{n^2} \mu(I) c^{n-1} \phi_n(n, n; q) + \mu(I) c^{n-1} \phi_n(n, n; q) + c^{n-2} \sum_{\lambda + \lambda' = n} \phi_{\lambda}(n, n; q) \phi_{\lambda'}(n - \lambda, n; q)) B_n^0 B_0^n \Phi$$

which using (6.3) implies

$$\langle (B_n^0)^2 (B_0^n)^2 \rangle = \mu(I)^2 c^{2n-2} (1+q^{n^2}) \left( \prod_{\rho=0}^{n-1} \frac{q^{n-\rho}-1}{q-1} \right)^2$$

$$+ \mu(I) c^{2n-3} \prod_{\rho=0}^{n-1} \frac{q^{n-\rho}-1}{q-1} \sum_{\lambda=1}^{n-1} \phi_{\lambda}(n,n;q) \phi_{n-\lambda}(n-\lambda,n;q).$$

Thus, by (6.1)-(6.4),

$$A(n,q;I) = \begin{bmatrix} \mu(I) c^{2n-1} [2n]_q! & c^{2n-2}\mu(I) [2n]_q! \\ c^{2n-2}\mu(I) [2n]_q! & \mu(I)^2 c^{2n-2} (1+q^{n^2}) ([n]_q!)^2 \\ +\mu(I) c^{2n-3} ([n]_q!)^2 \sum_{\lambda=1}^{n-1} q^{(n-\lambda)^2} {n \choose \lambda}_q^2 \end{bmatrix}$$

since

$$\begin{split} \sum_{\lambda=1}^{n-1} \phi_{\lambda}(n,n;q) \, \phi_{n-\lambda}(n-\lambda,n;q) &= \sum_{\lambda=1}^{n-1} \, q^{(n-\lambda)^2} \, \frac{[n]_q!}{[n-\lambda]_q!} \, \binom{n}{\lambda}_q \, \frac{[n]_q!}{[\lambda]_q!} \\ &= \sum_{\lambda=1}^{n-1} \, q^{(n-\lambda)^2} \, \binom{n}{\lambda}_q^2 \, [n]_q! \, . \end{split}$$

A(n,q;I) is a symmetric matrix, so it is positive semi-definite if and only if its minors are non-negative. The minor determinants of A(n,q;I) are

$$d_1 = \mu(I) c^{2n-1} [2n]_q!$$

which is non-negative for all I and

$$d_2 = \mu(I)^2 c^{4n-4} \left[2n\right]_q! \left(c \, \mu(I) \left(1+q^{n^2}\right) \left([n]_q!\right)^2 + \left([n]_q!\right)^2 \sum_{\lambda=1}^{n-1} \, q^{(n-\lambda)^2} \, \binom{n}{\lambda}_q^2 - [2n]_q!\right)^2 \left(\frac{n}{\lambda}\right)_q^2 + \frac{n}{2} \left(\frac{n$$

which is bigger or equal to zero if and only if

$$c \mu(I) (1+q^{n^2}) ([n]_q!)^2 + ([n]_q!)^2 \sum_{\lambda=1}^{n-1} q^{(n-\lambda)^2} {n \choose \lambda}_q^2 - [2n]_q! \ge 0$$

or equivalently

$$c\,\mu(I) \ge \frac{[2n]_q! - ([n]_q!)^2 \sum_{\lambda=1}^{n-1} q^{(n-\lambda)^2} \binom{n}{\lambda}_q^2}{(1+q^{n^2}) ([n]_q!)^2} = 1$$

since by Lemma 1

$$[2n]_{q}! - ([n]_{q}!)^{2} \sum_{\lambda=1}^{n-1} q^{(n-\lambda)^{2}} {n \choose \lambda}_{q}^{2} = [2n]_{q}! - ([n]_{q}!)^{2} \left(\sum_{\lambda=0}^{n} q^{\lambda^{2}} {n \choose \lambda}_{q}^{2} - 1 - q^{n^{2}}\right)$$

$$= [2n]_{q}! - ([n]_{q}!)^{2} \left({2n \choose n}_{q} - 1 - q^{n^{2}}\right) = [2n]_{q}! - ([n]_{q}!)^{2} \left(\frac{[2n]_{q}!}{([n]_{q}!)^{2}} - 1 - q^{n^{2}}\right)$$

$$= (1 + q^{n^{2}}) ([n]_{q}!)^{2}.$$

Thus

$$(6.5) d_2 \ge 0 \Leftrightarrow \mu(I) \ge \frac{1}{c}$$

which cannot be true for arbitrarily small I.

7. The Fermion case 
$$q = -1$$

The commutation relations for the renormalized powers of Fermion white noise can be obtained either directly in analogy to Section 2, or as a limiting case of the commutation relations obtained in Section 2. If the second approach is used we find that

$$\phi_{\lambda}(n,k;-1) := \lim_{q \to -1} \phi_{\lambda}(n,k;q) = \begin{cases} 0, & \text{if } \lambda > 1 \\ \frac{(1-(-1)^n)\left(1-(-1)^k\right)}{4}, & \text{if } \lambda = 1 \end{cases}$$

where  $\phi_{\lambda}(n, k; q)$  is as in Proposition 2, and (5.6), (5.11) become

(7.1) 
$$a_t^n (a_s^{\dagger})^k - (-1)^{nk} (a_s^{\dagger})^k a_t^n = \frac{(1 - (-1)^n) (1 - (-1)^k)}{4} (a_s^{\dagger})^{k-1} a_t^{n-1} \delta(t - s)$$

and

(7.2) 
$$B_k^n(f) B_K^N(g) - (-1)^{kN-nK} B_K^N(g) B_k^n(f) = x(n, k; N, K) B_{k+K-1}^{n+N-1}(f g)$$
 where

$$x(n,k;N,K) := \left(\frac{\left(1-(-1)^k\right)\left(1-(-1)^N\right)}{4} + (-1)^{kN-nK+1}\,\frac{(1-(-1)^n)\left(1-(-1)^K\right)}{4}\right).$$

Notice that (7.1) and (7.2) do not contain the renormalization constant c > 0 and no higher powers of the delta function appear. In fact, the need for renormalization does not arise in the Fermion case. Moreover

$$A(n, -1; I) = \lim_{q \to -1} A(n, q; I) = 0$$

which is trivially positive semi-definite for all I.

# References

- L. Accardi, A. Boukas, U. Franz, Renormalized powers of quantum white noise (to appear in Infin. Dimens. Anal. Quantum Probab. Relat. Top. 9 (2006), no. 1).
- L. Accardi, Y. G. Lu, I. V. Volovich, A white noise approach to classical and quantum stochastic calculi, Lecture Notes of the Volterra-CIRM International School with the same title, Trento, Italy, 1999; Volterra Preprint N. 375, 1999.
- L. Accardi, U. Franz, M. Skeide, Renormalized squares of white noise and other non-Gaussian noises as Levy processes on real Lie algebras, Comm. Math. Phys. 228 (2002), 123–150; Volterra Preprint N. 423, 2000.
- 4. L. Accardi, A. Boukas, Non-existence of a Fock representation of the RPWN (submitted to Infin. Dimens. Anal. Quantum Probab. Relat. Top., 2005).
- L. Accardi, A. Boukas, Itô calculus and quantum white noise calculus, Abel symposium Stochastic Analysis and Applications (a symposium in honor of Kiyosi Itô on the occasion of his 90th birthday), Oslo, 2005 (submitted for proceedings).

- H. Araki, Factorizable representations of current algebra, Publ. RIMS Kyoto Univ., 5 (1970), 361–422.
- 7. H. Araki, Ph. D. Thesis, Princeton, 1960.
- Yu. M. Berezansky, D. A. Mierzejewski, The construction of the chaotic representation for the Gamma field, Infin. Dimens. Anal. Quantum Probab. Relat. Top. 6 (2003), no. 1, 33–56.
- Yu. M. Berezansky, On the direct and inverse spectral problem for Jacobi fields, Algebra i Analys (Russian) 9 (1997), no. 6, 38–61; English transl. St. Petersburg Math. J. 9 (1997), no. 6.
- M. Bozejko, B. Kummerer, R. Speicher, q-Gaussian Processes: Non-commutative and Classical Aspects, Comm. Math. Phys. 185 (1997), 129–154.
- 11. M. Bozejko, R. Speicher, Interpolations between bosonic and Fermionic relations given by generalized Brownian motions, Math. Zeit. 322 (1996), 135–160.
- 12. P. Feinsilver, R. Schott, Algebraic Structures and Operator Calculus, Vol. I: Representations and Probability Theory, Kluwer Academic Publishers, Dordrecht, 1993.
- A. Guichardet, Symmetric Hilbert Spaces and Related Topics, Lecture Notes in Mathematics, Vol. 231, Springer-Verlag, Berlin—Heidelberg—New York, 1972.
- 14. Yu. Kondratiev, E. Lytvynov, *Operators of Gamma white noise analysis*, Infin. Dimens. Anal. Quantum Probab. Relat. Top. **3** (2000), 303–335.
- E. Lytvynov, Orthogonal decompositions for Lévy processes with an application to the gamma, Pascal, and Meixner processes, Infin. Dimens. Anal. Quantum Probab. Relat. Top. 6 (2003), 73–102.
- K. R. Parthasarathy, K. Schmidt, Positive definite kernels continuous tensor products and central limit theorems of probability theory, Lecture Notes in Mathematics, Vol. 272, Springer-Verlag, Berlin—Heidelberg—New York, 1972.
- P. Sniady, Quadratic bosonic and free white noises, Comm. Math. Phys. 211 (2000), no. 3, 615–628; Preprint, 1999.

Centro Vito Volterra, Universitá di Roma Tor<br/>Vergata, Via di Tor Vergata, 00133Roma, Italy

 $E ext{-}mail\ address: accardi@volterra.uniroma2.it}$ 

Department of Mathematics and Natural Sciences, American College of Greece, Aghia Paraskevi, 15342 Athens, Greece

 $E ext{-}mail\ address: and reasbouk as @acgmail.gr$ 

Received 11/02/2006